
A-10 P. T. O. 

Roll No. ………………….. 

LM–104 

Corporate Finance 

¼dkWiksZjsV Qkbusal½ 

(Master of Law LLM–12/16) 

First Year, Examination, 2017 

Time : 3 Hours   Max. Marks : 70 

Note : This paper is of seventy (70) marks containing 

three (3) sections A, B and C. Learners are required 

to attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Write an essay on the winding-up of company. 

Compare compulsory winding-up under the order of 

the tribunal with the procedure of voluntary winding-

up.   

dEiuh ds lekiu ij ,d fucU/k fyf[k;sA vf/kdj.k ds 

vkns’k ij dEiuh ds vfuok;Z lekiu dh LoSfPNd lekiu 

dh izfØ;k ls rqyuk dhft;sA  

2. ―The doctrine of indoor management protects to the 

outsiders from the company.‖ Explain and point out 

exception to the rule.  

ßvkUrfjd izcU/k dk fl)kUr ckgjh yksxksa dks dEiuh ls 

lqj{kk nsrk gSAÞ O;k[;k dhft;s rFkk bl fu;e ds viokn 

crkb;sA  

3. State the general principles of the allotment of shares. 

What are the legal procedures of restrictions on the 

allotment of shares ? Discuss.  

va’kksa ds vkcaVu ds lkekU; fl)kUr crkb;sA va’kksa ds 

vkcaVu esa izfrcU/k dh fof/kd izfØ;k D;k gS \ foospuk 

dhft;sA  

4. Discuss the provisions related to Corporate 

Governance under New Companies Act, 2013. Is 

Section 135 relating to corporate social responsibility 

applicable to one person company ?  

fuxe ls lEcfU/kr ‘kklu iz.kkyh ds lEcU/k esa izo`Ÿk izko/kku 

tks fd orZeku esa izo`Ÿk dEiuh fof/k] 2013 esa tksM+s x;s gSa] 

dk o.kZu dhft;sA D;k /kkjk 135 tks fd fuxeh; lkekftd 

mŸkjnkf;Ro ls lEcfU/kr gS] ,d O;fDr dEiuh ij Hkh leku 

:i ls ykxw gksrh gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is the doctrine of ultra-vires ? Explain the effect 

of ultra-vires transaction.  

vf/kdkjkrhr dk fl)kUr D;k gS \ vf/kdkjkrhr laO;ogkj ds 

izHkko dh O;k[;k dhft;sA  

2. Who is a Promoter ? Discuss the relationship of 

promoters with company.  

laizorZd dkSu gS \ laizorZdksa ds dEiuh ds lkFk lEcU/kksa dh 

O;k[;k dhft;sA  

3. Explain in short the liability mis-statement in the 

prospectus.  

izksLisDVl esa v;FkkFkZ dFku ¼v’kq) dFku½ ds fy;s nkf;Ro 

dh la{ksi esa O;k[;k dhft;sA  

4. Discuss the importance of object clause in the 

Memorandum of Association.  

laxe Kkiu eas mn~ns’; [k.M ds egRo dk o.kZu dhft;sA  

5. Discuss the provisions related to protection of 

Investors under Companies Act, 2013. 

orZeku esa izo`Ÿk dEiuh fof/k] 2013 esa fuos’kdksa ds laj{k.k 

lEcU/kh izko/kkuksa dk mYys[k dhft;sA  
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6. What is the Corporate Finance ? What are its 

objectives ? 

dEiuh foŸk ls vki D;k le>rs gSa \ blds mn~ns’; D;k  

gSa \  

7. What are the kinds of meeting of a company ?  

dEiuh dh fdrus izdkj dh lHkk,¡ gksrh gSa \ 

8. Define the following terms : 

(a) Director Identification Number (DIN) 

(b) Debentures   

fuEufyf[kr ‘kCnksa dh ifjHkk”kk nhft;s % 

¼v½ Mk;jsDVj vkbMsUVhfQds’ku uEcj ¼fMu½ 

¼c½ _.ki= 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Minimum number of members of required in a Public 

Company :  

(a) 3 (b) 6 

(c) 9 (d) 7 

yksd dEiuh esa de&ls&de fdrus lnL; gksus pkfg;s \ 

¼v½ 3 ¼c½ 6 

¼l½ 9 ¼n½ 7 
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2. Dividends can be paid in the form of :  

(a) Shares  

(b) Share Warrants  

(c) Cash  

(d) None of the above  

ykHkka’k dk Hkqxrku fdl :i eas fd;k tk ldrk gS \ 

¼v½ va’k 

¼c½ va’k okjUV 

¼l½ udn 

¼n½ mi;qZDr eas ls dksbZ ugha  

3. Who plays an important role in winding-up of a 

company ?  

(a) Directors  (b) Auditors  

(c) Secretary  (d) Liquidator  

dkSu dEiuh ds lekiu izfØ;k esa egRoiw.kZ Hkwfedk fuHkkrk  

gS \ 

¼v½ funsZ’kd  ¼c½ ys[kk ijh{kd  

¼l½ lfpo ¼n½ lekid  

4. Which of the following does not form part of Civil 

Services ? 

(a) Military service 

(b) Judicial service 

(c) Police service 

(d) All of the above 



 [ 6 ] LM–104 

A-10 

fuEufyf[kr esa ls dkSu&lh ukxfjd lsok ugha gS \ 

¼v½ lSfud lsok 

¼c½ U;kf;d lsok 

¼l½ iqfyl lsok 

¼n½ mi;qZDr lHkh 

5. A company may be wound-up by the Court :  

(a) If the memorandum permits such winding-up   

(b) By passing a special resolution 

(c) By passing an ordinary resolution  

(d) If default is made in holding an annual general 

meeting  

U;k;ky; }kjk dEiuh dk ifjlekiu fd;k tk ldrk gS % 

¼v½ ;fn Kkiu bldh vuqefr nsrk gks 

¼c½ fo’ks”k izLrko ikfjr djds 

¼l½ lk/kkj.k izLrko ikfjr djds 

¼n½ ;fn okf”kZd vke lHkk cqykus esa pwd gks tk;s 

6. In which Section of the Companies Act, 2013, 

prospectus is defined ?   

(a) Section 2 (68) 

(b) Section 2 (69) 

(c) Section 2 (70) 

(d) Section 2 (71) 

dEiuh vf/kfu;e] 2013 dh fdl /kkjk esa izksLisDVl dh 

ifjHkk”kk nh xbZ gS \ 

¼v½ /kkjk 2 ¼68½ 
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¼c½ /kkjk 2 ¼69½ 

¼l½ /kkjk 2 ¼70½ 

¼n½ /kkjk 2 ¼71½ 

7. Which one of the following is the landmark judgment 

of doctrine of ultra -vires ?  

(a) Ashbury Railway Carriage and Iron Co. Ltd. vs. 

Riche  

(b) Trivor vs. Hwitworth  

(c) Anand Bihari Lal vs. Dinshaw & Co.  

(d) Madhav Ram vs. Canara Banking Corporation  

fuEufyf[kr esa ls dkSu&lk vf/kdkjkrhr ds fl)kUr ij ,d 

egRoiw.kZ okn gS \ 

¼v½ ,s’kcjh jsyos dSjst ,.M vk;ju dEiuh fyfeVsM cuke 

fjps 

¼c½ fVªoksj cuke f VoFkZ  

¼l½ vkuUn fcgkjh yky cuke fnu’kkW ,.M dEiuh 

¼n½ ek/ko jke cuke dsujk cSaÇdx dkWiksZjs’ku  

8. The first clause of Memorandum of Association is :  

(a) Object clause  

(b) Registered Office clause  

(c) Capital clause  

(d) Name clause  

laxe Kkiu dk igyk [k.M gksrk gS % 

¼v½ mn~ns’; [k.M  

¼c½ jftLVMZ dk;kZy; [k.M  

¼l½ iw¡th [k.M  

¼n½ uke [k.M  
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9. Which is not correct about a company ?  

(a) It is a legal person  

(b) It has no nationality  

(c) It has residence  

(d) It has domicile  

,d dEiuh ds ckjs esa D;k lgh ugha gS \ 

¼v½ ;g fof/kd O;fDr gS 

¼c½ bldh jk”Vªh;rk ugha gksrh gS 

¼l½ bldk fuokl gksrk gS 

¼n½ bldk vf/kokl gksrk gS 

10. Soloman vs. Soloman & Co. case deals with :  

(a) Partner‘s liability  

(b) Minor‘s contract  

(c) Corporate personality  

(d) Void agreement   

lkWykseu cuke lkWykseu ,.M dEiuh ds ekeys dk lEcU/k 

fdlls gS \ 

¼v½ lk>snkjksa dk mŸkjnkf;Ro 

¼c½ vo;Ld dh lafonk  

¼l½ laxe O;fDrRo 

¼n½ ‘kwU; djkj  
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